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(10%) K f(x)= Jx and g(x)=+/2-x, find the composite function of f o g and its domains.

(10%) ¥ fy(x)=x/(x+1) and £, = fyof, for n=0,12,...,find a formula for f,(x).

(20%) Find limits. (2) linllarcsin[ll_ “x];cb) lijg(l—l—sint}x)cm.
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(20%) Differentiate (a) y=——— ; () f (x)=xarctan\/;.
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(10%) Find the area enclosed by the line y=x—1 and the parabola y* =2x+6.
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(10%) Evaluate (a) L 5_—xdx i (b) f_, _—dxxz

(20%) A sealed cylindrical can is to be made to hold 1 liter of oil. Find the dimensions that will minimize the cost

of the metal to manufacture the can, where 7 isthe radius and 7 the height (both in centimeters).




